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INTERMEDIATE EXAMINATION – 2022 (ANNUAL) 

Model Set 

I.Com. 

Economics(Elective).

le;%& 3 ?kaVs 15 feuV 

Time:- 3 hours 15 minute            
 
dqy iz’uksa dh la[;k % 100 $ 30 $ 8 ¾ 138      
Total no. of questions : 100 $ 30 $ 8 ¾ 138 

 

Instructions for the candidates :- 

1- ijh{kkFkhZ OMR mÙkj i=d ij viuk iz’u iqfLrdk Øekad ¼10 vadksa dk½ vo’; 

fy[ksaA                                                       

Candidate must enter his/her Question Booklet Serial No. (10 

Digits) in the OMR Answer Sheet. 

2- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as far 

as practicable. 

3- nkfguh vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

4- iz'uksa  dks /;kuiwoZd i<+us ds fy, ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjDr le; 

fn;k x;k gSA 

Subject Code :- 219 

iw.kkZad & 100 
Full Marks -100 
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15 minutes of extra time has been allotted for the candidates to 

read the questions carefully. 

5- ;g iz’u iqfLrdk nks [k.Mksa esa gS]  ,oa  

This question Booklet is divided into two sections: Section-A and 

Section-B. 

6- [k.M&v esa 100 oLrqfu"B iz’u gSa] ftuesa ls fdUgha 50 iz’uksa dk mÙkj nsuk 

vfuok;Z gSA ipkl ls vf/kd iz’uksa ds mÙkj nsus ij izFke 50 mÙkjksa dk gh 

ewY;kadu fd;k tk,xkA izR;sd iz’u ds fy, 1 vad fu/kkZfjr gSA lgh mÙkj 

miyC/k djk;s x;s OMR mÙkj i=d esa fn;s x;s lgh òÙk dks uhys@dkys ckWy 

isu ls HkjsaA fdlh Hkh izdkj ds âkbVuj@rjy inkFkZ@CysM@uk[kwu vkfn dk 

mÙkj&iqfLrdk esa iz;ksx djuk euk gS] vU;Fkk ijh{kk ifj.kke vekU; gksxkA 

In Section-A, There are 100 objective type questions, out of which 

any 50 questions are to be answered. First 50 answer will be 

evaluated in case more than 50 questions are answered. Each 

Question carries 1 mark. Darken the circle with blue/black ball pen 

against the correct option on OMR Answer Sheet provided to you. 

Do not use Whitener/liquid/blade/nail etc. on OMR-Sheet, 

otherwise the result will be invalid. 

7- [k.M&c esa 30 y?kqmÙkjh; iz’u gSaA izR;sd iz’u ds fy, 2 vad fu/kkZfjr gSa] 

ftuesa ls fdUgha 15 iz’uksa dk mÙkj nsuk vfuok;Z gSA buds vfrfjDr] bl [k.M 

esa 8 nh?kZ mÙkjh; iz’u fn;s x;s gSa] izR;sd iz’u ds fy, 5 vad fu/kkZfjr gS] 

ftuesa ls fdUgha 4 iz’uksa dk mÙkj nsuk gSA 
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In Section-B, there are 30 Short answer type questions. Each 

questions carries 2 marks, out of which any 15 questions are to be 

answered. Apart from this, there are 8 Long Answer type 

questions, each question carries 5 marks, out of which any 4 

questions are to be answered. 

8- fdlh izdkj ds bysDVªkWfud midj.k dk bLrseky iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited.

Section- A (Objective Type Questions 

iz'u la[;k 1 ls 100 rd ds izR;sd iz’u ds lkFk pkj fodYi fn, x, gSa] ftuesa ls 

,d lgh gSA vius }kjk pqus x, 50 iz’uksa ds lgh fodYi dks OMR&’khV ij fpfUgr djsaA 

izR;sd ds fy, 1 vad fu/kkZfjr gSA      50 x 1=50 

Question No.- 1 to 100 have four options, out of which only one is 

correct. You have to mark your selected 50 questions on the OMR-Sheet. 

Each question carries 1 (one) mark.   50 x 1 = 50 

1- O;f"V vFkZZ’kkL= esa fuEu esa ls fdldk v/;;u fd;k tkrk gS \ 

(A) O;fDrxr ifjokj   (B) O;fDrxr QeZ  

(C) O;fDrxr m|ksx   (D) buesa ls lHkh 

Which of the following is studied under micro economics ? 

(A) Individual family  (B) Individual firm 

(C) Individual industry  (D) All of these 
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2- vFkZ’kkL= dh fo"k; oLrq dk v/;;u fdu 'kk[kkvksa ds vUrZxr fd;k tkrk jgk 

gS \ 

(A) O;f"V vFkZ’kkL=   (B) lef"V vFkZ’kkL=  

(C) mijksDr nksuksa   (D) mi;qZDr esa ls dksbZ ugha 

The subject matter of economics is being studied under which 

branches ? 

(A) Micro Economics  (B) Macro Economics  

(C) Above Two   (D) None of these 

3- fuEu vFkZ’kkL=h esa ls dkSu dY;k.koknh fopkj/kkjk ds ugha gSa \ 

(A) ts0 ch0 ls0   (B) ek’kZy 

(C) ihxw     (D)  dSuu  

Which of the following is not a welfare Economist ? 

(A) J. B. Say    (B) Marshall 

(C) Pigou    (D) Canon 

4- volj ykxr dk oSdfYid uke D;k gS \ 

(A) vkfFkZd ykxr   (B) larqyu dher   

(C) lhekUr ykxr   (D) vkSlr ykxr 

What is alternative name of opportunity cost ?  

(A) Economic Cost    (B) Equilibrium Price  
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(C) Marginal Cost   (D) Average Cost 

5- vFkZO;oLFkk dh dsUnzh; leL;k gS & 

(A) D;k mRiknu gks \    

(B) dSls mRiknu gks \  

(C) mRikfnr oLrq dk forj.k dSls gks \    

(D) mijksDr lHkh 

The Central Problem of an economy is : 

(A) What to produce ?   

(B) How to produce ? 

(C) How to distribute produced goods ?   

(D) All the above 

6- lhekUr mi;ksfxrk dSls fudkyrs gSa \ 

(A) 
∆்௎

∆௤
     (B) 

∆ெ௎

∆௤
  

(C) 
∆௤

∆்௎
     (D) 

∆ொ

∆ெ௎
 

How we calculate marginal utility ? 

(A) 
∆்௎

∆௤
     (B) 

∆ெ௎

∆௤
  

(C) 
∆௤

∆்௎
     (D) 

∆ொ

∆ெ௎
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7- tc lhekUr mi;ksfxrk _.kkRed gksrh gS] rc dqy mi;ksfxrk & 

(A) vf/kdre gksrh gS   (B) ?kVus yxrh gSA 

(C) ?kVrh nj ls c<+rh gSA  (D) buesa ls dksbZ ugha 

When marginal utility is negative, then total utility is - 

(A) Maximum     

(B) Starts decreasing 

(C) Increasing at decreasing rate   

(D) None of these 

8- fdlh oLrq dh ekuoh; vko’;drk dks lUrq"V djus dh {kerk gS & 

(A) miHkksx    (B) mi;ksfxrk  

(C) xq.k     (D) :fp 

The capability of a commodity to satisfy human wants is : 

(A) Consumption   (B) Utility 

(C) Quality    (D) Taste 

9- ek’kZy ds vuqlkj] ^^fdlh oLrq dh mi;ksfxrk dks & 

(A) eqnzk esa ekik tk ldrk gSA  

(B) eqnzk esa ugha ekik tk ldrk gSA 

(C) la[;kRed :Ik esa ekik tk ldrk gSA   

(D) A vkSj B nksuksa 

According to Marshall, utility of a commodity : 
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(A) Can be measured by money 

(B) Can not be measured by money 

(C) Can be measured by cardinal numbers 

(D) Both A and B 

10- ctV lsV ds fy, vko’;d gS &  

(A) caMyksa dk laxzg   (B) fo|eku cktkj dher 

(C) miHkksDrk dh dqy vk;  (D) mijksDr lHkh 

This is required for a budget set : 

(A) Collection of bundles   

(B) Prevailing market price 

(C) Total income of the consumer 

(D) All the above 

11- vk; c<+us ij miHkksDrk fdu oLrqvksa dh ek¡x ?kVk nsrk gS \ 

(A) fuEu dksVh dh oLrq,¡  (B) lkekU; oLrq,¡ 

(C) fxQhu oLrq,¡   (D) A vkSj B nksuksa 

With an increase in income consumer decreases the consumption 

of which goods ? 

(A) Inferior goods   (B) Normal goods 
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(C) Giffin goods   (D) Both A and B 

12- fuEukafdr esa ls dkSu&lh oLrq ,d iwjd oLrq dk mnkgj.k gS \ 

(A) pk; rFkk dkWQh   (B) dksd rFkk isIlh 

(C) pkoy rFkk xsgw¡   (D) buesa ls dksbZ ugha 

Which of the following is an example of complimentary goods ?  

(A) Tea and Coffee  (B) Coke and Pepsi 

(C) Rice and Wheat   (D) None of these 

13- fdlh lkekU; oLrq ds ek¡x oØ dh <+ky gksrh gS & 

(A) _.kkRed    (B) /kukRed 

(C)  'kwU;    (D)  vifjHkkf"kr 

The slope of the demand curve of a normal goods is : 

(A) Negative    (B) Positive 

(C) Zero     (D) Undefined 

14- ek¡x dh yksp dks izHkkfor djus okys ?kVd dkSu&ls gSa \ 

(A) oLrq dh izdf̀r   (B) dher Lrj 

(C) vk; Lrj    (D) buesa ls lHkh 

Which of the following factor affects elasticity of demand ? 

(A) Nature of goods   (B) Price level 

(C) Income level   (D) All of these 
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15-  ;fn fdlh oLrq ds ewY; esa 40 izfr’kr ifjorZu ds dkj.k ek¡x esa 60 izfr’kr 

ifjorZu gks rks ek¡x dh yksp gS & 

(A) 0-5     (B) &1-5 

(C) 1     (D) 0 

If the demand for a goods changes by 60% due to 40% change in 

price, the elasticity of demand is : 

(A) 0.5     (B) -1.5 

(C) 1     (D) 0 

16- bdkbZ ls de ek¡x dh yksp dks fuEufyf[kr esa dkSu O;Dr djrk gS \ 

(A) vko’;d oLrq   (B) vkjkenk;d oLrq 

(C) foykflrk oLrq   (D) mi;qZDr lHkh 

Which of the following shows elasticity of demand less than one ? 

(A) Necessary goods  (B) Comforts goods 

(C) Luxury goods   (D) All the above 

17- og dkSu&lk le; gS ftlesa mRiknu ds lHkh lk/ku ifjofrZr fd;s tk ldrs 

gSa\ 

(A) vYidky    (B) nh?kZdky 

(C) vfr nh?kZdky   (D) rhuksa 

At which time all the factors of production may be changed ? 
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(A) Short run    (B) Long run 

(C) Very Long run   (D) All the three 

18- tks oØ igys c<+rk gS fQj fLFkj gksdj ?kVuk vkjEHk djrk gS og dkSu&lk oØ 

dgykrk gS \ 

(A) APP    (B) MPP 

(C) TPP    (D) ls lHkh 

A curve which rises first and starts declining after that called : 

(A) APP    (B) MPP 

(C) TPP    (D) All these 

19- tc vkSlr mRikn ¼AP½ vf/kdre~ gksrk gS] rc lhekUr mRikn ¼MP½ \ 

(A) vkSlr mRikn ds leku gksrk gSA   

(B) vkSlr mRikn ls de gksrk gSA 

(C) vkSlr mRikn ls vf/kd gksrk gSA 

(D) mi;qZDr esa ls dksbZ Hkh gks ldrk gSA 

When the Average Product (AP) is maximum, the Marginal 

Product (MP) is ? 

(A) Equal to AP   (B) Less than AP 

(C) More than AP   (D) Can be any one of the above 
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20- vYidkyhu mRiknu izfØ;k esa fuEufyf[kr esa ls dkSu ls lk/ku gksrs gSa \ 

(A) fLFkj lk/ku    (B) ifjorZu’khy lk/ku 

(C) A rFkk B nksuksa   (D) buesa ls dksbZ ugha 

Which factors among following we find in short-run production 

process ? 

(A) Fixed factors   (B) Variable factors  

(C) Both A and B   (D) None of these 

21- fuEu esa ls dkSu&lk dFku lR; gS \ 

(A) AC = TFC - TVC  (B) AC = AFC + TVC 

(C) AC = TFC + AVC  (D) AC = AFC + AVC 

Which of the following statement is true ? 

(A) AC = TFC - TVC  (B) AC = AFC + TVC 

(C) AC = TFC + AVC  (D) AC = AFC + AVC 

22- fuEufyf[kr esa dkSu lgh gS \ 

(A) TVC = TC – TFC  (B) TC = TVC – TFC 

(C) TFC = TVC + TC  (D) TC = TVC x TFC 

Which of the following is correct ? 

(A) TVC = TC – TFC  (B) TC = TVC – TFC 

(C) TFC = TVC + TC  (D) TC = TVC x TFC 

23- volj ykxr D;k gS \ 
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(A) og fodYi ftldk ifjR;kx dj fn;k x;kA 

(B) [kks;k gqvk volj 

(C) gLrkUrj.k vk; 

(D) buesa ls lHkh 

What is an opportunity Cost ?  

(A) The alternative foregone (B) The opportunity lost 

(C) Transfer earnings  (D) All of these 

24- vkSlr ifjorZu’khy ykxr gS  

(A) TVC x Q    (B) TVC + Q 

(C) TVC – Q    (D) TVC ÷ Q 

Average variable cost is :- 

(A) TVC x Q    (B) TVC + Q 

(C) TVC – Q    (D) TVC ÷ Q 

25- ,d QeZ ,d oLrq dh fdruh Hkh ek=k nh x;h dher ij csp ldrh gSA QeZ 

dh lhekUr vkxe gksxh & 

(A) vkSlr vkxe ls vf/kd gksxhA  

(B) vkSlr vkxe ls de gksxhA 

(C) vkSlr vkxe ds leku gksxhA 

(D) 'kwU; gksxhA 

A firm is able to sell any quantity of a goods at a given price. The 

firm’s marginal revenue will be :-  
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(A) Greater than Average Revenue 

(B) Less than Average Revenue 

(C) Equal to Average Revenue 

(D) Zero 

26- fuEu esa ls dkSu lgh gS \ 

(A) AR = MR(
௘

௘ିଵ
)    (B) Mc = MR(

௘

௘ିଵ
)   

(C) MR = MC(
௘ିଵ

௘
)   (D) buesa ls dksbZ ugha 

Which of the following is correct ? 

(A) AR = MR(
௘

௘ିଵ
)    (B) Mc = MR(

௘

௘ିଵ
)   

(C) MR = MC(
௘ିଵ

௘
)   (D) None of these 

27- QeZ dk ykHk fuEufyf[kr esa ls fdl 'krZ dks iqjk djus ij vf/kdre~ gksxk \ 

(A) tgk¡ MR = Mc   

(B) tgk¡ MC oØ js[kk MR dks uhps ls dkVsA 

(C) A vkSj B nksukss    

(D) buesa ls dksbZ ugha 

With which condition, firm will get maximum Profit ? 

(A) Where MR = MC  

(B) Where MC curve cuts MR from below 

(C) Both A and B 
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(D) None of these 

28- QeZ dh vfUre larqyu n’kk esa % & 

(A) MC oØ MR dks mij ls dkVrk gSA 

(B) MC oØ MR dks uhps ls dkVrk gSA 

(C) A vkSj B nksuksa    

(D) lHkh vlR; 

In final equilibrium of firm :- 

(A) MC curve cuts MR from above 

(B) MC curve cuts MR from below 

(C) Both A and B 

(D) All false 

29- vU; ckrsa leku jgsa rks oLrq dh dher rFkk iwfÙkZ dh ek=k esa /kukRed lEcU/k 

D;k O;Dr djrk gS \ 

(A) ek¡x dk fu;e   (B) iwfÙkZ dh yksp 

(C) iwfÙkZ dk fu;e   (D) iwfÙkZ Qyu 

If other thing beings same, What does the positive relationship 

between Price and Supply Quantity signify ? 

(A) Law of Demand   (B) Elasticity of Supply  

(C) Law of Supply   (D) Supply Function 
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30- fuEufyf[kr esa dkSu&lk dFku lgh gS \ 

(A) oLrq dh dher ,oa mldh iwfÙkZ ds chp lh/kk lEcU/k gksrk gSA 

(B) iwfÙkZ oØ ck;sa ls nk;sa Åij dh vksj mBrk gSA 

(C) iwfÙkZ dks vusd rRo izHkkfor djrs gSaA 

(D) mi;qZDr lHkh 

Which of the following statement is true ? 

(A) Price and quantity have direct relationship ?  

(B) Supply curve rises from left to right  

(C) Supply is affected by many factors  

(D) All the above 

31- v{kksa ds dsUnz ls fudyus okyh iwfÙkZ js[kk dh yksp gksrh gS  

(A) bdkbZ ls de   (B) bdkbZ ds cjkcj  

(C) bdkbZ ls vf/kd    (D) 'kwU; ds cjkcj 

The elasticity of a straight line supply curve originating from the 

centre of origin is :- 

(A) Less than unity   (B) Equal to unity 

(C) Greater than unity  (D) Equal to Zero 

32- ,dkf/kdkj dh fuEufyf[kr esa dkSu&lh fo’ks"krk ugha gS \ 

(A) ,d Øsrk vkSj vf/kd foØsrk (B) fudV LFkkukiUu dk vHkko 

(C) ubZ QeksZa ds izos’k ij izfrcU/k (D) mi;qZDr lHkh 
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Which of the following  is not a feature of monopoly ?  

(A) One buyer and many sellers 

(B) Lack of close substitutes 

(C) Restrictions of new firms entry 

(D) All the above 

33- foHksn mRikn ,d fo’ks"krk gS % 

(A) dsoy ,dkf/kdkjhd izfr;ksfxrk dh 

(B) dsoy vYikf/kdkjh dh 

(C) ,dkf/kdkjh dh 

(D) ,dkf/kdkj izfr;ksfxrk vkSj vYikf/kdkj nksuksa dhA 

Differentiated products is a characteristics of : 

(A) Monopolistic competition only  

(B) Oligopoly only 

(C) Monopoly 

(D) Both Monopolistic competition and oligopoly 

34- fdl cktkj esa vkSlr vk; lhekUr vk; ds cjkcj gksrh gS \ 

(A) iw.kZ izfr;ksfxrk   (B) vYikf/kdkj 

(C) viw.kZ izfr;ksfxrk   (D) ,dkf/kdkj 

In which market, average revenue is equal to marginal revenue ? 
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(A) Perfect competition  (B) Oligopoly 

(C) Imperfect competition  (D) Monopoly 

35- cM+h la[;k esa Øsrk foØsrk gksrs gSa & 

(A) dsoy iw.kZ izfr;ksfxrk esaA 

(B) dsoy ,dkf/kdkjkRed izfr;ksfxrk esaA 

(C) A rFkk B nksuksa 

(D) vYikf/kdkj esaA 

There are large number of buyers and sellers in :- 

(A) Perfect Competition only (B) Monopolistic competition only 

(C) Both A and B   (D) Oligopoly 

36- ftl cktkj esa Lora= izos’k rFkk ofgxeZu gks] mldk uke gS \ 

(A) ,dkf/kdkjkRed izfr;ksfxrk cktkj 

(B) viw.kZ izfr;ksfxrk dk cktkj 

(C) iw.kZ izfr;ksfxrk cktkj 

(D) buesa ls dksbZ ugh 

A market in which there is free entry and exit, the market is ? 

(A) Monopolistic competitive market 

(B) Imperfect competitive market 

(C) Perfectly competitive market 
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(D) None of these 

37- cktkj ewY; ik;k tkrk gS & 

(A) vYidkfyu cktkj esa   (B) nh?kZdkfyu cktkj esa 

(C) vfr nh?kZdkyhu cktkj esa  (D) buesa ls dksbZ ugha 

Market price is found in :- 

(A) Short Period Market  (B) Long Period Market 

(C) Very Long Period Market (D) None of these 

38- fdlh oLrq dk ewY; fu/kkZfjr gksrk gS & 

(A) ek¡x ds }kjk    (B) iwfÙkZ ds }kjk 

(C) ek¡x vkSj iwfÙkZ nksuksa ds }kjk (D) ljdkj }kjk 

The Price of a goods is determined by - 

(A) Demand    (B) Supply 

(C) Both demand and supply (D) Government 

39- yxku gS %& 

(A) okLrfod yxku&gLrkUrj.k vk; 

(B) okLrfod yxku $ gLrkUrj.k vk; 

(C) gLrkUrj.k vk; 

(D) buesa ls dksbZ ugha 

Rent is :- 
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(A) Actual Income – Transfer Earning 

(B) Actual Income + Transfer Earning 

(C) Transfer Earnings 

(D) None of these 

40- lef"B vFkZ’kkL= dh fuEufyf[kr esa dkSu&lh lhek,¡ gSa \ 

(A) lkeqfgd vFkZ’kkL=h; fojks/kkHkkl 

(B) oS;fDrd bdkb;ksa dh vogsyuk 

(C) A vkSj B nksuksa   

(D) buesa ls dksb ugha 

  Which of the following is the limitation of Macro Economics ? 

(A) Collective Economic Paradox   

(B) Ingnores Individual Units 

(C) Both A and B 

(D) None of these 

41- fuEufyf[kr esa ls dkSu&lk LVkWd gS \ 

(A) lEifr    (B) cpr 

(C) fu;kZr    (D) ykHk 

Which of the following is a stock ? 

(A) Wealth    (B) Saving 
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(C) Export    (D) Profit 

42- lef"V vFkZ’kkL= ds v/;;u dk fo"k; gS & 

(A) jk"Vªh; vk; dk fl)kUr  (B) miHkksDrk dk fl)kUr 

(C) mRiknd dk fl)kUr  (D) bues ls dksbZ ugha 

The subject of the study of Macro Economics is : 

(A) The Principle of National Income 

(B) The Principle of Consumeer 

(C) The Principle of Producer 

(D) None of these 

43- ,d [kqyh vFkZO;oLFkk esa lkewfgd ek¡x ds la?kVd dkSu gSa \ 

(A) miHkksx     

(B) fuos’k 

(C) miHkksx $ ljdkjh O;;   

(D) miHkksx $ ljdkjh O;; $ fuos’k $ 'kq) fu;kZr 

In an open economy, which are the components of aggregate 

demand ? 

(A) Consumption    

(B) Investment 

(C) Consumption + Government Expenditure 
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(D) Consumption + Government Expenditure + Investment + Net 

Export 

44- okLrfod izokg ds vUrZxr fuEufyf[kr esa dkSu 'kkfey gS \ 

(A) oLrqvksa dk izokg   (B) lsokvksa dk izokg 

(C) A rFkk B nksuksa    (D) buesa ls dksbZ ugha 

Which of the following is included in real flow ? 

(A) Flow of Goods   (B) Flow of Sevices 

(C) Both A and B   (D) None of these 

45- ,d vFkZO;oLFkk esa dkSu&lk {ks= lfEefyr jgrk gS \ 

(A) izkFkfed    (B) f}rh;d 

(C) rr̀h;d    (D) ;s lHkh 

Which sector is included in an economy ? 

(A) Primary    (B) Seconday 

(C) Tertiary    (D) All of these 

46- fuEufyf[kr mís’; ls [kjhnh xbZ oLrq,¡ vfUre oLrq,¡ dgykrh gSa & 

(A) vko’;drkvksa dh larqf"V gsrq (B) QeZ easa fuos’k gsrq 

(C) A rFkk B nksuksa   (D) mi;qZDr esa ls dksbZ ugha 

Goods purchased for the following purposes are final goods : 

(A) For satisfaction of wants 
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(B) For investment in firm 

(C) Both A and B 

(D) None of the above 

47- fdlh vFkZO;oLFkk esa ,d o"kZ ds vUrZxr mRikfnr vfUre oLrqvksa rFkk lsokvksa ds 

cktkj ewY; dks dgrs gSa & 

(A) ldy jk"Vªh; mRikn   (B) jk"Vªh; vk; 

(C) ldy ?kjsyw vk;   (D) fo’kq) jk"Vªh; mRikn 

The market value of all final goods and services produced in an 

economy over a year is called : 

(A) Gross National Product (B) National Income 

(C) Gross Domestic Income (D) Net National Product 

48- GNP voLQhfrd D;k gS \ 

(A) GNP voLQhfrd ¾ ¼ukeek= GNP@okLrfod GNP½ x 100  

(B) GNP voLQhfrd ¾ ¼okLrfod GNP@ukeek= GNP½ x 100  

(C) GNP voLQhfrd ¾ okLrfod GNP@ukeek= GNP 

(D) buesa ls dksbZ ugha 

What is GNP Deflator ? 

(A) GNP Deflator =   
ே௢௠௜௡௔௟ ீே௉

ோ௘௔௟ ீே௉
 x 100 

(B) GNP Deflator =   
ோ௘௔௟ ீே௉

ே௢௠௜௡௔௟ ீே௉
  x 100 
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(C) GNP Deflator =   
ோ௘௔௟ ீே௉

ே௢௠௜௡௔௟ ீே௉
   

(D) None of these 

49- f}rh;d {ks= esa fuEufyf[kr esa dkSu&lh lsok,¡ lfEefyr gS \ 

(A) chek     (B) fcfuekZ.k 

(C) O;kikj    (D) cSafdax 

Which of the following service is included in Secondary Sector ? 

(A) Insurance    (B) Manufacturing 

(C) Trade    (D) Banking 

50- eqnzk ds LFkSfrd vkSj xR;kRed dk;ksZa dk foHkktu fdlus fd;k \ 

(A) jSxuj fÝ’k    (B) ikWy ,saftx 

(C) ek’kZy    (D) buesa ls lHkh  

Who classified static and dynamic function of Money? 

(A) Ragnar Frisch   (B) Paul Einzig 

(C) Marshall    (D) All of these 

51- oLrq&fofue; iz.kkyh ds fuEufyf[kr esa dkSu&ls ykHk gSa \ 

(A) ljy iz.kkyh   (B) vkilh lg;ksx esa o`f) 

(C) vkfFkZd vlekurk,¡ ugha  (D) mi;qZDr lHkh 

Which of the following are the advantages of Barter System ? 

(A) Simple System   (B) More Mutual Co-operation 
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(C) No Economic Disparities (D) All the above 

52- lsUVªy cSad vkWQ bafM;k D;k gS \ 

(A) O;kikfjd cSad   (B) dsUnzh; cSad 

(C) futh cSad    (D) buesa ls dksbZ ugh 

What is Central Bank of India ?  

(A) Commercial Bank  (B) Central Bank 

(C) Private Bank   (D) None of these 

53- O;kikfjd cSad ds izkFkfed dk;Z fuEufyf[kr esa ls dkSu&ls gSa \ 

(A) tek,¡ Lohdkj djuk  (B) _.k nsuk 

(C) lk[k fuekZ.k    (D) mi;qZDr lHkh 

Which of the following  is the Primary function of commercial 

Bank? 

(A) Accepting deposits  (B) Advancing loans 

(C) Credit creation   (D) All the above 

54- dsUnzh; cSad lk[k fu;U=.k djrh gS & 

(A) cSad nj ds tfj;s   (B) [kqys cktkj dh izfØ;k ds tfj;s 

(C) CRR ds tfj;s   (D) buesa ls lHkh 

Central Bank controls credit through : 

(A) Bank rate    (B) Open market operations 
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(C) CRR    (D) All the above 

55- dsUnzh; cSad ,slk djds _.k dh miyC/krk dks c<+k ldrk gS & 

(A) iqu[kZjhn nj ¼jsiksjsV½ c<+kdj  

(B) izfr iqu[kZjhn nj ¼fjolZ jsiks jsV½ c<+kdj 

(C) ljdkjh izfrHkwfr;k¡ [kjhndj 

(D) ljdkjh izfrHkwfr;k¡ cspdj 

The Central Bank can increase availabilities of credit by : 

(A) Raising repo rate   

(B) Raising reverse repo rate 

(C) Buying government securities   

(D) Selling government securities 

56- dsUnzh; cSad }kjk dkSu&lh eqnzk tkjh dh tkrh gS \ 

(A) pyu eqnzk    (B) lk[k eqnzk 

(C) flDds    (D) mi;qZDr esa ls lHkh 

Which type of currency is issued by the Central Bank ? 

(A) Currency    (B) Credit Money 

(C) Coins    (D) All the above 

57- ekSfnzd uhfr ds izeq[k mís’; gS & 

(A) mRikndrk ,oa jkstxkj esa o`f) 
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(B) fons’kh fofue; nj dh fLFkjrk 

(C) ewY; fLFkjrk 

(D) buesa ls lHkh 

The major objective of monetary policy is : 

(A) Increase in output and employment 

(B) Stability in foreign exchange rate 

(C)  Price stability 

(D) All of these 

58- fuEukafdr esa ls dkSu&lk lk[k fu;a=.k dk ifjek.kkRed mik; ugha gS \ 

(A) cSad nj    (B) uSfrd ncko 

(C) [kqys cktkj dh fØ;k,¡  (D) uxn dks"k vuqikr esa ifjorZu 

Which of the following is not a quantitative method of credit 

control? 

(A) Bank Rate   (B) Moral Suasion 

(C) Open Market Operations (D) Change in CRR 

59- lk[k eqnzk dk foLrkj gksrk gS tc CRR - 

(A) ?kVrk gSA    (B) c<+rk gSA 

(C) A rFkk B nksuksa   (D) buesa ls dksbZ ugha 

Credit money is increased when CRR 
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(A) Falls    (B) Rises 

(C) Both A and B   (D) None of these 

60- cSafdx yksdiky ;kstuk dh ?kks"k.kk fdl o"kZ dh xbZ \ 

(A) 1960     (B) 1995 

(C) 1997     (D) 2000 

Banking ombudsman scheme was announced in which year ? 

(A) 1960     (B) 1995 

(C) 1997     (D) 2000 

61- Hkkjrh; fjtoZ cSad us igyh ckj futh {ks= esa u;s cSad dks ykblsal tkjh djus 

ds fy, fn’kk&funsZ’k ?kksf"kr fd,  

(A) 22 tuojh 1993    (B) 15 ekpZ 1995  

(C) 1 vizSy 1999   (D) buesa ls dksbZ ugha  

R.B.I. announced the guidelines to issue licences to new banks of 

Private sector on : 

(A) January 22, 1993  (B) March 15, 1995 

(C) 1 April, 1999   (D) None of the above 

62- fofu;ksx dh ek=k esa òf) gksus ds lkFk&lkFk MEC & 

(A) c<+rh jgrh gSA   (B) ?kVrh tkrh gSA 

(C) fLFkj jgrh gSA   (D) buesa ls dksbZ ugha 

With increase in investment, MEC 
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(A) Rises    (B) Falls 

(C) Remains constant  (D) None of these 

63- lhekUr mi;ksx izo`fr fuEu esa ls dkSu gS \ 

(A) 
୼௬

୼ୡ
     (B) 

୼ୡ

୼୷
 

(C) 
୼௬

୼୍
     (D) buesa ls dksbZ ugha 

Which of the following is Marginal Propensity to consume ? 

(A) 
୼௬

୼ୡ
     (B) 

୼ୡ

୼୷
 

(C) 
୼௬

୼୍
     (D) None of these 

64- iw¡th dh lhekUr {kerk gSA  

(A)      (B)  

(C) A vkSj B nksuksa   (D) buesa ls dksbZ ugha 

Marginal efficiency of capital is :- 

(A)      (B)  

(C) Both A and B   (D) None of these 

65- dhUl ds vFkZO;oLFkk esa U;wu ek¡x dh n’kk dks fuEufyf[kr esa fdl uke ls 

iqdkjk tkrk gS \ 

(A) iw.kZ jkstxkj lUrqyu  (B) viw.kZ jkstxkj larqyu 

(C) A vkSj B nksuksa   (D) buesa ls dksbZ ugha 

izR;kf’kr vk; 
ykxr 

ykxr 
izR;kf’kr vk; 

Prospective Yield 
Cost 

Cost 
Prospective Yield 
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Which of the following is known as the state of Deficient in 

Keynesian Economy ? 

(A) Full Employment Equilibrium 

(B) Under Employment Equilibrium 

(C) Both A and B 

(D) None of these 

66- dhUl ds xq.kd dks fuEufyf[kr esa dkSu&ls rRo izHkkfor dj ldrs gSa \ 

(A) lhekUr cpr izo`fr   (B) lhekUr miHkksx izo`fr  

(C) A rFkk B nksuksa    (D) buesa ls dksbZ ugha 

Which factor affects Keynesian Multiplier ? 

(A) Marginal Propensity to save  

(B) Marginal Propensity to consume 

(C) Both A and B 

(D) None of above 

67- ;fn vFkZO;oLFkk esa vk; dk lUrqyu Lrj iw.kZ jkstxkj ds Lrj ls igys fu/kkZfjr 

gks tkrk gS] rc bls dgk tkrk gS & 

(A) U;wu ek¡x dh n’kk   (B) ek¡x dh vkf/kD; 

(C) vkaf’kd ek¡x dh n’kk  (D) mi;qZDr esa ls dksbZ ugha 
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If income equilibrium level in an economy is dertermined at the 

level before full employment, it is known as the state of : 

(A) Deficient Demand  (B) Surplus Demand 

(C) Partial Demand   (D) None of the above 

68- U;wu ek¡x dks Bhd djus ds fy, fuEufyf[kr esa dkSu&ls ekSfnzd mik; fd, tk 

ldrs gSa \ 

(A) cSad nj esa deh    

(B) [kqys cktkj ls izfrHkwfr;k¡ [kjhnuk 

(C) uxn dks"k vuqikr dks de djuk 

(D) mi;qZDr lHkh 

Which monetary measure may be adopted to correct Deficient 

Demand ? 

(A) Reduction in Bank Rate 

(B) Buying Securities in Open Market 

(C) Reducing Cash Reserve Ratio 

(D) All the above 

69- LQhfrd vUrjky dks Bhd djus ds fy, izeq[k ekSfnzd mik; dkSu&ls gSa \ 

(A) cSad nj esa òf)   (B) [kqys cktkj esa izfrHkwfr;k¡ cspuk 

(C) uxn dks"k vuqikr esa o`f)  (D) mi;qZDr lHkh 

Which monetary measure is to be adopted in correcting 

Inflationary Gap ? 
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(A) Increase in Bank Rate  

(B) Selling of Securities in open market 

(C) Increase in cash Reserve Ratio 

(D) All the above 

70- ctV fuEukafdr izdkj ds gksrs gSa & 

(A) larqfyr ctV   (B) cpr dk ctV 

(C) ?kkVs dk ctV   (D) mijksDr lHkh 

Budget are of the following types - 

(A) Balanced Budget  (B) Surplus Budget 

(C) Deficit Budget   (D) All the above 

71- izR;{k dj gS & 

(A) vk; dj    (B) migkj dj 

(C) A vkSj B nksuksa   (D) buesa ls dksbZ ugha 

Direct tax is : 

(A) Income tax   (B) Gift tax 

(C) Both A and B   (D) None of these 

72- vlUrqfyr ctV esa & 

(A) vk;] O;; ls vf/kd gksrk gSA 

(B) vk; dh vis{kk O;; vf/kd gksrk gSA 
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(C) ?kkVk _.k ;k uksV Nkidj iqjk fd;k tkrk gSA 

(D) dsoy (B) ,oa (C) 

In an unbalanced budget : 

(A) Income is greater than expenditure 

(B) Expenditure is higher relative to income 

(C) Deficit is covered by loans or Printing of notes 

(D) Only B and C 

73- ljdkj ctV ds ek/;e ls fdu mís’;ksa dks iqjk djus dk iz;kl djrh gS \ 

(A) vkfFkZd fodkl dks izksRlkgu (B) lUrqfyr {ks=h; fodkl 

(C) vk; ,oa lEifÙk dk iqufoZrj.k (D) mi;qZDr lHkh 

Which Objective Government attempts to obtain by Budget ? 

(A) To promote economic development 

(B) Balanced Regional development 

(C) Redistribution of income and wealth 

(D) All the above 

74- fuEu esa ls dkSu ljdkj }kjk m/kkj ysus ds dkj.kksa dh vksj /;ku vkdf"kZr djrk 

gS \ 

(A) jktdks"kh; ?kkVk   (B) izkFkfed ?kkVk 

(C) jktLo ?kkVk    (D) mi;qZDr lHkh 
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Which of the following indicates the reason of borrowings by the 

Government ? 

(A) Fiscal deficit   (B) Primary deficit 

(C) Revenue deficit   (D) All the above 

75- ctV ds la?kVd fuEufyf[kr esa dkSu gS \ 

(A) ctV izkfIr;k¡   (B) ctV O;; 

(C) A vkSj B nksuksa   (D) buesa ls dksbz ugha 

Which of the following is the component of Budget ? 

(A) Budget receipt   (B) Budget expenditure 

(C) Both A and B   (D) None of these 

76- fons’kh fofue; cktkj nj dk fu/kkZj.k gksrk gSa & 

(A) ljdkj }kjk   (B) eksy&rksy }kjk 

(C) fo’o cSad }kjk   (D) ek¡x vkSj iwfÙkZ 'kfDr;ksa }kjk 

Foreign Exchange Maket rate is determined by : 

(A) Government   (B) Bargaining 

(C) World Bank   (D) Demand and supply forces 

77- Hkqxrku lUrqyu esa vlekurk dk dkj.k gS & 

(A) izkd`frd dkj.k   (B) vkfFkZd dkj.k 

(C) jktuSfrd dkj.k   (D) buesa ls lHkh 
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The reason of imbalance in balance of Payment is : 

(A) Natural Reasons  (B) Economic Reasons 

(C) Political Reasons  (D) All of these 

78- vn`’; enksa ds vUrZxr fuEufyf[kr esa fdls lfEefyr fd;k tkrk gS \ 

(A) cSafdax    (B) tgktjkuh 

(C) lwpuk    (D) mi;qZDr lHkh  

Which of the following is included under invisible items ? 

(A) Banking    (B) Shipping 

(C) Communication   (D) All the above 

79- iw¡th [kkrs ds vUrZxr fuEufyf[kr esa ls fdls 'kkfey fd;k tkrk gS \ 

(A) ljdkjh lkSns   (B) futh lkSns 

(C) fons’kh izR;{k fofu;ksx  (D) mi;qZDr lHkh  

Which of the following is included under Capital Account ? 

(A) Government transactions  

(B) Private transactions 

(C) Foreign Direct Investment  

(D) All the above 

80- Hkqxrku larqyu esa vlUrqyu dk fuEu esa ls dkSu vkfFkZd dkj.k gS \ 

(A) vUrjkZ"Vªh; lEcU/k   (B) jktuhfrd vfLFkjrk 
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(C) O;kikj pØ    (D) buesa ls dksbZ ugha 

Which of the following is an economic reason of imbalance in 

balance of Payment ? 

(A) International Relationship (B) Political Instability 

(C) Trade Cycle   (D) None of these 

81- miHkksDrk dk larqyu fcUnq D;k gS \ 

(A) lhekUr mi;ksfxrk ¾ ewY;  (B) lhekUr mi;ksfxrk < ewY; 

(C) lhekUr mi;ksfxrk > ewY;   (D) blesa ls dksbZ ugha 

What is the Consumer’s Equilibrium Point ? 

(A) MU = Price   (B) MU < Price 

(C) MU > Price   (D) None of these 

82- mRiknu ds fuEu esa dkSu&ls lk/ku gSa \ 

(A) Hkwfe     (B) Je 

(C) iw¡th     (D) mi;qZDr lHkh 

Which of the following is a factor of Production ? 

(A) Land    (B) Labour 

(C) Capital    (D) All the above 

83- fdlus dgk \ ^^vFkZ’kkL= dHkh okLrfod foKku gksrk gS vkSj dHkh vkn’kZ 

foKku** \ 
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(A) ek’kZy    (B) ÝsMeSu  

(C) dhUl    (D) buesa ls dksbZ ugha 

Who said ? “Economics is sometimes Positive Science and some 

times Normative Science.”  

(A) Marshall    (B) Freidman 

(C) Keynes    (D) None of these 

84- fuEu esa fdl vk/kkj LrEHk ij vkfFkZd leL;kvksa dk <k¡pk [kM+k gS \ 

(A) vlhfer vko’;drk,¡  (B) lhfer lk/ku 

(C) v vkSj c nksuksa   (D) mi;qZDr esa ls dksbZ ugha 

On which base, structure of economic problems has been 

installed? 

(A) Unlimited Wants  (B) Limited resources 

(C) Both A and B   (D) None of the above 

85- rVLFkrk oØ fo’ys"k.k esa nks oLrqvksa ds chp fofue; dk vuqikr n’kkZrh gS& 

(A) dher js[kk    (B) rVLFkrk oØ 

(C) rVLFkrk fp=   (D) mi;qZDr lHkh 

The ratio of exchange between two goods in indifference curve 

analysis is shown by : 

(A) The Price line   (B) The indifference curve 

(C) The indifference map  (D) All the above 
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86- le lhekUr mi;ksfxrk fu;e ds vuqlkj miHkksDrk ds lUrqyu dh 'kÙkZ gS & 

(A) 
ெ.௎ಲ

௉ಲ
 ¾ 

ெ.௎ಳ

௉ಳ
   (B)  

ெ.௎ಲ

ெ.௎ಳ
 ¾ 

௉ಲ

௉ಳ
 

(C) A vkSj B nksuksa   (D) vifjHkkf"kr  

According to the law of equi-marginal utility, the condition for 

consumer’s equilibrium is : 

(A) 
ெ.௎ಲ

௉ಲ
 ¾ 

ெ.௎ಳ

௉ಳ
   (B)  

ெ.௎ಲ

ெ.௎ಳ
 ¾ 

௉ಲ

௉ಳ
 

(C) Both (A) and (B)  (D) Undefined 

87- ctV js[kk dk <+ky gksrk gS & 

(A) & 
௉௫

௉௬
    (B) & 

௉௬

௉௫
 

(C) + 
௉௫

௉௬
    (D) $ 

௉௬

௉௫
 

Slope of budget line is : 

(A) & 
௉௫

௉௬
    (B) & 

௉௬

௉௫
 

(C) + 
௉௫

௉௬
    (D) $ 

௉௬

௉௫
 

88- dkWQh ds ewY; esa o`f) gksus ij pk; dh ek¡x & 

(A) c<+rh gSA    (B) ?kVrh gSA 

(C) fLFkj jgrh gSA   (D) buesa ls dksbZ ugha 

Rise in coffee price, the demand of tea : 

(A) Rises    (B) Falls 
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(C) Remain Stable    (D) None of these 

89- mRiknd Qyu esa mRiknu fdldk Qyu gS \ 

(A) dher    (B) mRifÙk ds lk/kuksa dk 

(C) dqy O;; dk   (D) buesa ls dksbZ ugha 

In Production function, Production is a function of which ? 

(A) Price    (B) Factors of Prduction 

(C) Total expenditure  (D) None of these 

90- tc 100 bdkbZ mRiknu djus ij dqy fLFkj ykxr :0 30 gks vkSj vkSlr 

ifjoÙkhZ ykxr :0 3 gks] rks dqy ykxr gksxh %  

(A) :0 3    (B) :0 30 

(C) :0 270    (D) :0 330 

When the total fixed cost of producing 100 units is Rs. 30 and the 

average variavble cost is Rs. 3, total cost is : 

(A) Rs. 3    (B) Rs. 30 

(C) Rs. 270    (D) Rs. 330 

91- vkSlr ykxr oØ dk vkdkj gksrk gS & 

(A) U - vkdkj tSlk   (B) ledksf.k; vfrijoy; tSlk 

(C) X - v{k dh lekukUrj js[kk (D) buesa ls dksbZ ugh 

The shape of average cost curve is - 

(A) U - Shaped   (B) Rectangular hyperbola shaped 
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(C) Line parallel to X-axis  (D) None of these 

92- mRiknu esa òf) ds lkFk&lkFk dqy ykxr ,oa dqy ifjorZu’khy ykxr esa vUrj  

(A) ?kVrk tkrk gSA   (B) c<+rk tkrk gSA 

(C) fLFkj jgrk gSA   (D) buesa ls dksbZ ugha 

With increase in output, the difference between total cost and total 

variable cost : 

(A) Decreases   (B) Increases  

(C) Remain Constant  (D) None of the above 

93- QeZ dk ykHk fuEufyf[kr esa fdl 'kÙkZ dks iqjk djus ij vf/kdre~ gksxk \ 

(A) lhekUr vkxe ¾ lhekUr ykxr 

(B) lhekUr ykxr oØ lhekUr vkxe js[kk dks uhps ls dkVrh gSA 

(C) A vkSj B nksuksa    

(D) buesa ls dksbZ ugha 

With which condition, firm will get maximum Profit ? 

(A) Marginal Revenue = Marginal Cost 

(B) Marginal cost curve cuts Marginal curve from the below 

(C) Both A and B   (D) None of these 

94- iwfÙkZ dh yksp dh eki fuUufyf[kr esa fdl lw= lss Kkr dh tkrh gS \ 

(A) 
∆ೂೄ

ೂೄ
∆ು

ು

     (B) 
ொௌ

∆௉
 x 

ଵ

௉
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(C) 
ொௌ

∆ொௌ
 x P    (D) 

∆௉

ொௌ
 x 

௉

∆ொௌ
 

The measurement of the elasticity of supply is expressed as : 

(A) 
∆ೂೄ

ೂೄ
∆ು

ು

     (B) 
ொௌ

∆௉
 x 

ଵ

௉
  

(C) 
ொௌ

∆ொௌ
 x P    (D) 

∆௉

ொௌ
 x 

௉

∆ொௌ
 

95- oLrq dh dher ,oa ek¡x ds chp izfrykse lEcU/k ik;k tkrk gS & 

(A) dsoy ,dkf/kdkj esaA   

(B) dsoy ,dkf/kdkj izfr;ksfxrk esa 

(C) ,dkf/kdkj ,oa ,dkf/kdkj izfr;ksfxrk nksuksa esa  

(D) dsoy iw.kZ izfr;ksfxrk esa 

There is an inverse relation between Price of goods and Demand - 

(A) Only monopoly     

(B) Only monopolistic competition 

(C) Both under monopoly and monopolistic competition 

(D) Only Perfect Competition 

96- ek¡x esa ifjorZu ds fuEufyf[kr esa dksu&ls dkj.k gSa \ 

(A) miHkksDrk dh vk; esa ifjorZu 

(B) lEcfU/kr oLrqvksa dh dher esa ifjorZu 

(C) tula[;k o`f) 
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(D) mi;qZDr lHkh  

Which of the following is a reason of change in demand ? 

(A) Change in consumer’s income 

(B) Change in price of related goods  

(C) Increase in Population 

(D) All the above 

97- ifjokj QeksZ dks fuEufyf[kr esa dkSu&lh lsok,¡ iznku djrh gSa \ 

(A) Hkwfe     (B) Je 

(C) iw¡th vkSj m/ke    (D) mi;qZDr lHkh 

Which services are provided by families to a firm ? 

(A) Land    (B) Labour  

(C) Capital and Enterprise (D) All of the above 

98- jktdks"kh; uhfr ds vUrZxr fdls 'kkfey fd;k tkrk gS \ 

(A) lkoZtfud O;;   (B) dj 

(C) lkoZtfud _.k   (D) buesa ls lHkh  

Which of the following is included in Fiscal Policy ? 

(A) Public Expenditure  (B) Tax 

(C) Public Debt   (D) All of these 

99- ctV esa lfEefyr gks ldrk gS & 
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(A) vkxe ?kkVk    (B) foÙkh; ?kkVk 

(C) izkjfEHkd ?kkVk   (D) buesa ls lHkh 

Budget may include : 

(A) Revenue Deficit   (B) Fiscal Deficit  

(C) Primary Deficit   (D) All of these 

100- eqnzk iwfÙkZ dk fu;eu dkSu djrk gS \ 

(A) Hkkjr ljdkj   (B) fjtoZ cSad vkWQ bf.M;k 

(C) okf.kfT;d cSad    (D) ;kstuk vk;ksx  

Who regulates money supply ? 

(A) Government of India  (B) Reserve Bank of India  

(C) Commercial Bank  (D) Planning Commission  

Section-B

Short Answer Type Questions

iz’u la[;k 1 ls 30 rd y?kq mÙkjh; gSaA buesa ls fdUgha 15 iz’uksa ds mÙkj nsaA izR;sd iz’u 

ds fy, 2 vad fu/kkZfjr gSaA       (15x2=30) 

Question no. 1 to 30 are Short answer type. Answer any 15 questions. Each 

question carries 2 marks.    (15x2=30) 

1- vFkZO;oLFkk dh dksbZ nks dsUnzh; leL;kvksa dks fyf[k, A 

Write any two Central Problems of an economy 
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2- iw.kZ larqf"V fcUnq D;k gS \ 

What is the point of full satisfaction ? 

3- mnklhurk oØ D;k gS \ 

What is indifference curve ? 

4- ek¡x ds fu;e ds dksbZ nks viokn fy[ksaA 

Write any two exceptions of Law of Demand. 

5- iw.kZr;k ykspnkj rFkk iw.kZr;k csykspnkj ek¡x dk vFkZ fy[ksaA 

Write the meaning of Perfectly elastic and Perfectly inelastic 

demand. 

6- dqy mRikn] vkSlr mRikn ,oa lhekUr mRikn ls D;k le>rs gSa \ 

What do you understand by Total product, Average product and 

Marginal Product ? 

7- ifjorZu’khy ykxrksa ls D;k vk’k; gS \ nks mnkgj.k nhft,A 

What is meant by variable cost ? Give two examples. 

8- fefJr vFkZO;oLFkk dh nks fo’ks"krk,¡ fy[ksaA 

Mention two features of a mixed economy. 

9- eqnzk&LQhfr dks ifjHkkf"kr djsaA 

Define inflation. 

10- gLrkUrj.k Hkqxrku D;k gS \ 

What is transfer payment ? 

11- iwfÙkZ esa ifjorZu ds D;k dkj.k gSa \ 

What are the causes of change in supply ? 
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12- iwfÙkZ dh yksp ds pkj fu/kkZjd ?kVd fyf[k,A 

Mention the four determinants of elasticity of supply. 

13- fdl cktkj esa AR = MR gksrk gS \ 

In which market does the condition AR = MR prevail ? 

14- vf/kek¡x vkSj vf/kiwfÙkZ esa vUrj le>kb,A 

Explain the difference between excess demand and excess 

supply. 

15- dkSu&lh 'kfDr;k¡ etnwjh nj dks fu/kkZfjr djrh gSa \ 

Which forces determine wage rate ? 

16- miHkksx oLrq ,oa iw¡thxr oLrq esa vUrj crkb,A 

Distinguish between consumption goods and capital goods. 

17- izokg en ds fdUgha nks mnkgj.kksa dk mYys[k djsaA 

Explain any two examples of flow concept. 

18- cktkj dher ij 'kq) jk"Vªh; mRikn ls vki D;k le>rs gSa \ 

What do you mean by Net National Product at market price ? 

19- eqnzk iwfÙkZ ds pkj izeq[k ?kVd le>kb,A 

Explain the four major components of supply of money. 

20- lkof/k tek D;k gS \ 

What is time deposite ? 

21- uxn fuf/k vuqikr ¼CRR½ rFkk oS/kkfud rjyrk vuqikr ¼SLR½ esa D;k vUrj 

gS \ 
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What is the difference between Cash Reserve Ratio (CRR) and 

Statutory Liquidity Ratio (SLR) ? 

22- miHkksx rFkk vk; esa D;k laca/k gS \ 

What is the relationship between Consumption and Income ? 

23- ^^vfrjsd ek¡x LQhfrd vUrjky dks crkrh gSA** Li"V djsaA 

“Excess demand shows inflationary gap.” Clarify. 

24- O;kikj pØksa dks ifjHkkf"kr djsaA 

Define trade Cycle. 

25- ;kstuk O;; vkSj xSj&;kstuk O;; esa vUrj crkb,A 

Differentiate between Plan Expenditure and Non-Plan 

Expenditure. 

26- ?kjsyq eqnzk ds voewY;u ,oa eqnzk gzkl dk D;k vfHkizk; gS \ 

What do you mean by Devaluation and depreciation of domestic 

currency ? 

27- Hkqxrku 'ks"k rFkk O;kikj 'ks"k esa vUrj crk,¡A 

Distinguish between Balance of Payment and Balance of trade ? 

28- jktLo O;; ,oa iw¡thxr O;; esa Hksn dhft,A 

Distinguish between revenue expenditure and capital expenditure. 

29- iqjd oLrq ,oa LFkkukiUu oLrq esa vUrj Li"V djsaA 

Distinguish between complementary goods and substitute goods. 

30- miHkksDrk lUrqyu dk vFkZ D;k gS \ 

What is the meaning of consumer’s equilibrium ? 
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Long Answer Type Questions

iz’u la[;k 31 ls 38 rd nh?kZ mÙkjh; gSaA buesa ls fdUgha 4 iz’uksa ds mÙkj nsaA izR;sd iz’u 

ds fy, 5 vad fu/kkZfjr gSaA       (4x5=20) 

Question no. 31 to 38 are Long answer type. Answer any 4 questions. Each 

question carries 5 marks.      (4x5=20) 

31- lelhekUr miHkksfxrk ds fu;e dks le>kb,A 

Explain the Law of Equi-marginal Utility. 

32- Ekk¡x D;k gS \ ek¡x ds fu/kkZjd rRo dks le>kb,A 

What is demand ? Explain the determinants of demand. 

33- fdlh oLrq ds fy, ek¡x dh dher yksp dks ekius dh dqy O;; jhfr Li"V 

dhft,A 

Explain the Total Expenditure Method of measuring Price Elasticity 

of Demand of a commodity. 

34- d`f"k ds lanHkZ esa ?kVrs izfrQy dk fu;e le>kb,A 

Explain the law of diminishing returns in context of agriculture. 

35- jk"Vªh; vk; dh x.kuk djus dh vk; fof/k dk o.kZu dhft,A 

Explain the Income Method for calculating National Income. 

36- eqnzk ds dk;ksZa dk o.kZu djsaA 

Explain the functions of Money. 

37- O;kolkf;d cSad ls vki D;k le>rs gSa \ blds lk[k fuekZ.k dh lhek,¡ D;k gSa\ 

What do you mean by Commercial Bank. What are the limitations 

of its Credit Creation ? 
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38- izR;{k dj dh ifjHkk"kk nhft,A blds xq.k&nks"k crkb,A 

Define Direct Tax. Explain its merits and demerits. 


